PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

Table 2-1. Sol Regulator Parts List (Continued).

MISCELLANEQUS
‘w’ﬂl Sol REG Circuit Board
W1 Heat Sink, 690-220-P
Heat Sink, 203-AP
v’} Heat Sink, aluminum

Coax Connector, female* (Video Output)
Coax Connector, male (Video Output Cable)
Coax Connector Adapter Sleeve (Video Output Cable)
*AC Receptacle, female
*Fuse Holder

*SPST Power Switch, pushbutton (S5)

AC Power Cord

*Commoning Blocks
*Clamp for cC8, 1%"

Tie Wraps

Mica Insulators

4-40 x 7/16 screw

4-40 x 5/8 screw

4-40 Hex Nut

6-32 x % screw, metal

6-32 x % screw, Nylon

6-32 Hex Nut :

#4 Lockwasher, internal Footh

Length Solder

-

H 0w NFRF®ODERFEFNDFERRREERBRERNRF R

'

*Chassis-mounted component

.

II-3



